#E . KM (SWRM)

REWE 2=/ O0—LAvYFx

BE 4T
AT D?(i?% B C k D
B56-0003 M3X0.5 5.5 6.4 1.8 5.3
B56-0004 M4X0.7 7 8.1 2.4 6.8
B56-0005 M5X0.8 8 9.2 3.2 7.8
B56-0006 M6X1.0 10 11.5 3.6 9.8
B56-0008 M8X1.25 13 15.0 5.0 12.5
B56-0010 M10X1.5 17 19.6 6.0 16.5
B56-0012 M12X1.75 19 21.9 7.0 18
B56-0014 M14X2.0 22 25.4 8.0 21
B56-0016 M16X2.0 24 27.7 10.0 23
B56-0020 M20X2.5 30 34.6 12.0 29
B56-5116 | 5/16X18IL 14 16.1 5.0 13.5
B56-0318 3/8X16L 17 19.6 6.0 16.5
B56-0112 1/2X121L4 21 24.2 8.0 20
B56-0518 5/8X11L 26 29.9 10.0 25
B56-0314 3/4X101L 32 36.8 12.0 31
FRE 0s 115 | mm TRUscO SAADTEEH |* 2-sn—rrsmryrsm | T8 B56—-0000




